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Cluster: 0127 ptr; resid: 0.23; r/c: 25/76

x.range

upstream meme PSSM #1; e=1.1

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=59

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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10251

14149
4048

4049
50527

24195

38891

1241

15233

18524

23838

33217

3351

3425

39883

40902

41071

44042

48038

49808

50465

5175

7810

8000

8457

string −500 −400 −300 −200 −100 −1
50527−0.26
50465−0.39
48038−0.64
49808−0.64
23838−0.72
18524−0.94

8457−1.06
40902−1.34
15233−1.54
38891−1.95

4049−2.22
4048−2.25

10251−2.46
14149−2.82
33217−2.88
41071−2.97
44042−3.49

1241−4.02
3351−4.11
3425−4.61

24195−4.91
39883−5.02

8000−5.31
5175−5.68
7810−8.11

log10(P) upstream meme1 2 log10(P.clust)=−2.81; 25 seqs; 24 uniq
c(0.5, 2.5)
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